

# BOUNDS FOR THE WEIGHTED GINI MEAN DIFFERENCE OF AN EMPIRICAL DISTRIBUTION

## YU MIAO, LI GE AND ANG PENG

(Communicated by J. Pečarić)

Abstract. In the paper, we obtain various bounds for more general weighted Gini mean difference of an empirical distribution, which extend the results of Cerone and Dragomir in [2].

#### 1. Introduction

To measure the disparity of a probability distribution, the Gini mean difference and its scale invariant version, the Gini index, are most widely used. The special case of an empirical distribution is particularly important.

The Gini mean difference of the sample  $\mathbf{a} = (a_1, \dots, a_n) \in \mathbb{R}^n$  is defined by

$$G(\mathbf{a}) = \frac{1}{2n^2} \sum_{i=1}^{n} \sum_{i=1}^{n} |a_i - a_j| = \frac{1}{n^2} \sum_{1 \le i < j \le n} |a_i - a_j|$$

and

$$R(\mathbf{a}) = \frac{1}{\overline{a}}G(\mathbf{a})$$

is the Gini index of **a**, provided the sample mean  $\bar{a}$  is not zero [5, p. 257].

The Gini index of a equals the Gini mean difference of the "scaled down" sample

$$\tilde{a} = \left(\frac{a_1}{\overline{a}}, \dots, \frac{a_n}{\overline{a}}\right), \ (\overline{a} \neq 0)$$

That is to say,

$$R(\mathbf{a}) = R(a_1, \dots, a_n) = \frac{1}{2n^2} \sum_{i=1}^n \sum_{i=1}^n \left| \frac{a_i}{\overline{a}} - \frac{a_j}{\overline{a}} \right|.$$

We state several important properties of the Gini index for an empirical distribution of nonnegative data [5, p. 257].

(i) Let 
$$(a_1, \dots, a_n) \in \mathbb{R}^n_+$$
 with  $\sum_{i=1}^n a_i > 0$ . Then

$$0 = R(\overline{a}, \dots, \overline{a}) \leqslant R(a_1, \dots, a_n) \leqslant R\left(0, \dots, 0, \sum_{i=1}^n a_i\right) = 1 - \frac{1}{n} < 1,$$

Mathematics subject classification (2010): 60E15, 26D15, 62E10. Keywords and phrases: Gini mean difference, empirical distribution.



$$R(\beta a_1, \dots, \beta a_n) = R(a_1, \dots, a_n)$$
, for every  $\beta > 0$ .

and

$$R(a_1 + \lambda, \dots, a_n + \lambda) = \frac{\overline{a}}{\overline{a} + \lambda} R(a_1, \dots, a_n), \text{ for } \lambda > 0.$$

(ii)  $R(\cdot)$  is a continuous function on  $\mathbb{R}^n_+$ .

These and other properties have been investigated by many authors. For a survey and references, see [6, 3, 4, 5].

For  $\mathbf{a}=(a_1,\cdots,a_n)\in\mathbb{R}^n$  and  $\mathbf{p}=(p_1,\cdots,p_n)$  a probability sequence, meaning that  $p_i>0$   $(i\in\{1,\cdots,n\})$  and  $\sum_{i=1}^n p_i=1$ , Cerone and Dragomir considered in [1] the weighted Gini mean difference defined by the formula

$$G(\mathbf{p}, \mathbf{a}) = \frac{1}{2} \sum_{j=1}^{n} \sum_{i=1}^{n} p_i p_j |a_i - a_j| = \sum_{1 \le i < j \le n} p_i p_j |a_i - a_j|,$$
(1.1)

and proved that

$$\frac{1}{2}K(\mathbf{p},\mathbf{a}) \leqslant G(\mathbf{p},\mathbf{a}) \leqslant \inf_{\gamma \in \mathbb{R}} \left[ \sum_{i=1}^{n} p_i |a_i - \gamma| \right] \leqslant K(\mathbf{p},\mathbf{a}),$$

where  $K(\mathbf{p}, \mathbf{a})$  is the mean absolute deviation, namely

$$K(\mathbf{p}, \mathbf{a}) := \sum_{i=1}^{n} p_i \left| a_i - \sum_{j=1}^{n} p_j a_j \right|.$$

They have also shown that if more information on the sampling data  $\mathbf{a} = (a_1, \dots, a_n)$  is available, i.e., there exist the real numbers a and A such that  $a \le a_i \le A$  for each  $i \in \{1, \dots, n\}$ , then

$$G(\mathbf{p}, \mathbf{a}) \leqslant (A - a) \max_{J \subset \{1, \dots, n\}} [P_J(1 - P_J)] \left( \leqslant \frac{1}{4} (A - a) \right), \tag{1.2}$$

where  $P_J := \sum_{j \in J} p_j$ . Also, they have shown that

$$G(\mathbf{p}, \mathbf{a}) \leqslant \sum_{i=1}^{n} p_i \left| a_i - \frac{A+a}{2} \right| \left( \leqslant \frac{1}{2} (A-a) \right). \tag{1.3}$$

Notice that in general the bounds for the weighted Gini mean difference  $G(\mathbf{p}, \mathbf{a})$  provided by (1.2) and (1.3) cannot be compared to conclude that one is always better than the other [1].

Recently, in [2], Cerone and Dragomir provided various bounds for the more general r-weighted Gini mean difference. For  $\mathbf{a}=(a_1,\cdots,a_n)\in\mathbb{R}^n$  and  $\mathbf{p}=(p_1,\cdots,p_n)$  a probability sequence, meaning that  $p_i>0$   $(i\in\{1,\cdots,n\})$  and  $\sum_{i=1}^n p_i=1$ , Cerone and Dragomir considered in [2] the r-weighted Gini mean difference, for  $r\in[1,\infty)$ , defined by the formula

$$G_r(\mathbf{p}, \mathbf{a}) := \frac{1}{2} \sum_{j=1}^n \sum_{i=1}^n p_i p_j |a_i - a_j|^r = \sum_{1 \le i < j \le n} p_i p_j |a_i - a_j|^r,$$
(1.4)

and proved

$$\frac{1}{2} \max_{(i,j) \in \Delta} \left\{ \frac{p_i^r p_j^r + p_i p_j (1 - p_i p_j)^{r-1}}{(1 - p_i p_j)^{r-1}} |a_i - a_j|^r \right\} \leqslant G_r(\mathbf{p}, \mathbf{a}) \leqslant \frac{1}{2} \max_{(i,j) \in \Delta} |a_i - a_j|^r, \quad (1.5)$$

where  $\Delta := \{(i, j) | i, j \in \{1, \dots, n\} \}$ .

The main aim of the paper is to continue the work begun in [1, 2] and extends their results for the more general weighted Gini mean difference that has been introduced in [1, 2].

### 2. Main results

Fixed two positive integers n,m, for  $\mathbf{a}=(a_1,\cdots,a_n)\in\mathbb{R}^n$ ,  $\mathbf{b}=(b_1,\cdots,b_m)\in\mathbb{R}^m$  and  $\mathbf{p}=(p_1,\cdots,p_n)$ ,  $\mathbf{q}=(q_1,\cdots,q_m)$  two probability sequences, meaning that  $p_i$ ,  $q_j>0$   $(i\in\{1,\cdots,n\},\ j\in\{1,\cdots,m\})$  and  $\sum_{i=1}^n p_i=1$ ,  $\sum_{j=1}^m q_j=1$ , we introduce the following general r-weighted Gini mean difference, for  $r\in[1,\infty)$ , defined by the formula

$$G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) := \frac{1}{2} \sum_{i=1}^{m} \sum_{i=1}^{n} p_i q_j |a_i - b_j|^r.$$
 (2.1)

Obviously, if taking m = n,  $p_i = q_i$ ,  $a_i = b_i$ , for all  $i \in \{1, \dots, n\}$ , then  $G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b})$  becomes the r-weighted Gini mean difference (1.4). Now, if we define

$$\widehat{\Delta} := \{(i,j)|i \in \{1,\cdots,n\}, j \in \{1,\cdots,m\}\},\$$

then we can simply write the relation (2.1) in the form

$$G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) = \frac{1}{2} \sum_{(i,j) \in \widehat{\Delta}} p_i q_j |a_i - b_j|^r, \ r \geqslant 1.$$

Now we state the following result concerning upper and lower bounds for  $G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b})$ .

THEOREM 2.1. For any  $p_i$ ,  $q_j \in (0,1)$  with  $\sum_{i=1}^n p_i = 1$ ,  $\sum_{j=1}^m q_j = 1$  and  $a_i, b_j \in \mathbb{R}$ ,  $1 \leq i \leq n$ ,  $1 \leq j \leq m$ , assume that

$$\sum_{i=1}^n a_i p_i = \sum_{j=1}^m b_j p_j.$$

Then we have the following inequalities

$$\frac{1}{2} \max_{(k,l)\in\widehat{\Delta}} \left\{ \frac{p_k^r q_l^r + (1 - p_k q_l)^{r-1} p_k q_l}{(1 - p_k q_l)^{r-1}} |a_k - b_l|^r \right\} 
\leqslant G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{2} \max_{(k,l)\in\widehat{\Delta}} |a_k - b_l|^r$$
(2.2)

where r > 1.

Proof. Since

$$\sum_{(i,j)\in\widehat{\Delta}} p_i q_j (a_i - b_j) = 0,$$

then, for any fixed  $(k,l) \in \widehat{\Delta}$ , we have

$$p_k q_l(a_k - b_l) = -\sum_{(i,j) \in \widehat{\Delta} \setminus \{(k,l)\}} p_i q_j(a_i - b_j).$$

Taking the modulus in above equation and by Hölder's inequality, we have successively

$$\begin{aligned} &p_{k}q_{l}|a_{k}-b_{l}|\\ &=\left|\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}}p_{i}q_{j}(a_{i}-b_{j})\right|\\ &\leqslant\left(\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}}p_{i}q_{j}\right)^{1/\alpha}\left(\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}}p_{i}q_{j}|a_{i}-b_{j}|^{r}\right)^{1/r}\\ &=\left(\sum_{(i,j)\in\widehat{\Delta}}p_{i}q_{j}-p_{k}q_{l}\right)^{1/\alpha}\left(\sum_{(i,j)\in\widehat{\Delta}}p_{i}q_{j}|a_{i}-b_{j}|^{r}-p_{k}q_{l}|a_{k}-b_{l}|^{r}\right)^{1/r}\\ &=(1-p_{k}q_{l})^{\frac{r-1}{r}}\left(2G_{r}(\mathbf{p},\mathbf{q};\mathbf{a},\mathbf{b})-p_{k}q_{l}|a_{k}-b_{l}|^{r}\right)^{1/r}\end{aligned} \tag{2.3}$$

where  $\frac{1}{r} + \frac{1}{\alpha} = 1, \alpha > 1$ . Taking the prower r in (2.3), we have

$$p_k^r q_l^r |a_k - b_l|^r \le (1 - p_k q_l)^{r-1} (2G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) - p_k q_l |a_k - b_l|^r)$$

which implies

$$\frac{1}{2} \cdot \frac{p_k^r q_l^r + (1 - p_k q_l)^{r-1} p_k q_l}{(1 - p_k q_l)^{r-1}} |a_k - b_l|^r \leqslant G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b})$$
 (2.4)

for each  $(k,l) \in \widehat{\Delta}$ . Taking the maximum over  $(k,l) \in \widehat{\Delta}$  in (2.4), we deduce the first inequality in (2.2). The second inequality is obvious on observing that

$$G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{2} \sum_{j=1}^m \sum_{i=1}^n p_i q_j \max_{(i,j) \in \widehat{\Delta}} |a_i - b_j|^r = \frac{1}{2} \max_{(i,j) \in \widehat{\Delta}} |a_i - b_j|^r.$$

REMARK 2.1. If taking m = n,  $p_i = q_i$ ,  $a_i = b_i$ , for all  $i \in \{1, \dots, n\}$ , then the bounds in (2.2) become the result (1.5) of Cerone and Dragomir.

REMARK 2.2. The case r = 2 is of interest, since

$$G_{2}(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) = \frac{1}{2} \sum_{j=1}^{m} \sum_{i=1}^{n} p_{i} q_{j} |a_{i} - b_{j}|^{2}$$

$$= \frac{1}{2} \left\{ \sum_{i=1}^{n} p_{i} a_{i}^{2} - 2 \left( \sum_{i=1}^{n} p_{i} a_{i} \right) \left( \sum_{j=1}^{m} q_{j} b_{j} \right) + \sum_{j=1}^{m} q_{i} b_{j}^{2} \right\}$$

for which we can obtain from Theorem 2.1 the following bounds,

$$\frac{1}{2} \max_{(k,l) \in \widehat{\Delta}} \left\{ \frac{p_k q_l}{1 - p_k q_l} (a_k - b_l)^2 \right\} \leqslant G_2(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{2} \max_{(k,l) \in \widehat{\Delta}} (a_k - b_l)^2.$$

REMARK 2.3. It is easy to check the function

$$h_r(t) := \frac{t^r + t(1-t)^{r-1}}{(1-t)^{r-1}}, \quad r > 1$$

is strictly increasing on [0,1). Therefore

$$\begin{split} \min_{(k,l)\in\widehat{\Delta}} \left\{ \frac{p_k^r q_l^r + (1-p_k q_l)^{r-1} p_k q_l}{(1-p_k q_l)^{r-1}} \right\} &= \min_{(k,l)\in\widehat{\Delta}} h_r(p_i q_j) \\ \geqslant & h_r \left[ \min_{(k,l)\in\widehat{\Delta}} p_i q_j \right] \\ &= h_r(\underline{p} \cdot \underline{q}) \\ &= \frac{\underline{p}^r \underline{q}^r + (1-\underline{p} \cdot \underline{q})^{r-1} \underline{p} \cdot \underline{q}}{(1-p \cdot q)^{r-1}} \end{split}$$

where  $\underline{p} = \min\{p_1, \dots, p_n\}$ ,  $\underline{q} = \min\{q_1, \dots, q_m\}$ . Then we can obtain a coarse but, perhaps, a more useful lower bound

$$G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \geqslant \frac{1}{2} \frac{\underline{p}^r \underline{q}^r + (1 - \underline{p} \cdot \underline{q})^{r-1} \underline{p} \cdot \underline{q}}{(1 - \underline{p} \cdot \underline{q})^{r-1}} \max_{(k,l) \in \widehat{\Delta}} |a_i - b_j|^r.$$

For the case r = 2, we then have

$$G_2(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \geqslant \frac{1}{2} \frac{\underline{p} \cdot \underline{q}}{1 - \underline{p} \cdot \underline{q}} \max_{(k,l) \in \widehat{\Delta}} (a_i - b_j)^2.$$

THEOREM 2.2. For any  $p_i$ ,  $q_j \in (0,1)$  with  $\sum_{i=1}^n p_i = 1$ ,  $\sum_{j=1}^m q_j = 1$  and  $a_i, b_j \in \mathbb{R}$ ,  $1 \le i \le n$ ,  $1 \le j \le m$ , assume that

$$\sum_{i=1}^n a_i p_i = \sum_{j=1}^m b_j p_j.$$

Then we have the following inequalities

$$\max_{(k,l)\in\widehat{\Delta}} p_k q_l |a_k - b_l| \leqslant G_1(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{2} \max_{(k,l)\in\widehat{\Delta}} |a_k - b_l|$$
 (2.5)

*Proof.* As in the proof of Theorem 2.1, for all  $(k,l) \in \widehat{\Delta}$ ,

$$p_{k}q_{l}|a_{k}-b_{l}| = \left|\sum_{\substack{(i,j)\in\widehat{\Delta}\setminus\{(k,l)\}\\(i,j)\in\widehat{\Delta}}} p_{i}q_{j}(a_{i}-b_{j})\right|$$

$$\leq \sum_{\substack{(i,j)\in\widehat{\Delta}\\=2G_{1}(\mathbf{p},\mathbf{q};\mathbf{a},\mathbf{b})-p_{k}q_{l}|a_{k}-a_{l}|}} (2.6)$$

which implies the first inequality in (2.5). The second part is obvious.  $\Box$ 

REMARK 2.4. If taking m = n,  $p_i = q_i$ ,  $a_i = b_i$ , for all  $i \in \{1, \dots, n\}$ , in [2, Theorem 2, p183], Cerone and Dragomir obtained the following inequalities

$$\frac{1}{2} \max_{(k,l)\in\Delta} \left\{ p_k p_l | a_k - a_l | \left( 1 + \frac{1}{\max\limits_{(i,j)\in\Delta\setminus\{k,l\}} p_i p_j} \right) \right\} \\
\leqslant G_1(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{2} \max_{(k,l)\in\Delta} |a_k - a_l|.$$
(2.7)

However, we find that the lower bound of (2.7) is wrong. If we take  $p_i = 1/n$  for any i, then (2.7) becomes

$$\frac{1}{2}\left(1+\frac{1}{n^2}\right)\max_{(k,l)\in\Delta}|a_k-a_l|\leqslant G_1(\mathbf{p},\mathbf{q};\mathbf{a},\mathbf{b})\leqslant \frac{1}{2}\max_{(k,l)\in\Delta}|a_k-a_l|,$$

which yields a contradiction.

Next we shall give some more general results.

THEOREM 2.3. For any  $p_i$ ,  $q_j \in (0,1)$  with  $\sum_{i=1}^n p_i = 1$ ,  $\sum_{j=1}^m q_j = 1$  and  $a_i, b_j \in \mathbb{R}$ ,  $1 \le i \le n$ ,  $1 \le j \le m$ , assume that

$$\sum_{i=1}^{n} a_i p_i = \sum_{j=1}^{m} b_j p_j.$$

Then we have the following inequalities

$$\frac{1}{2} \max_{\Delta_1 \subset \widehat{\Delta}} \left\{ \frac{\left(\sum_{(k,l) \in \Delta_1} p_k q_l | a_k - b_l|\right)^r}{\left(1 - \sum_{(k,l) \in \Delta_1} p_k q_l\right)^{r-1}} + \sum_{(k,l) \in \Delta_1} p_k q_l | a_k - b_l|^r \right\} \\
\leqslant G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{2} \max_{(k,l) \in \widehat{\Delta}} |a_k - b_l|^r \tag{2.8}$$

where r > 1.

Proof. Since

$$\sum_{(i,j)\in\widehat{\Delta}} p_i q_j (a_i - b_j) = 0,$$

then, for any fixed  $\Delta_1 \subset \widehat{\Delta}$ , we have

$$\sum_{(k,l)\in\Delta_1} p_k q_l(a_k-b_l) = -\sum_{(i,j)\in\widehat{\Delta}\setminus\Delta_1} p_i q_j(a_i-b_j).$$

Taking the modulus in above equation and by Hölder's inequality, we have successively

$$\sum_{(k,l)\in\Delta_{1}} p_{k}q_{l}|a_{k} - b_{l}|$$

$$= \left|\sum_{(i,j)\in\widehat{\Delta}\setminus\Delta_{1}} p_{i}q_{j}(a_{i} - b_{j})\right|$$

$$\leq \left(\sum_{(i,j)\in\widehat{\Delta}\setminus\Delta_{1}} p_{i}q_{j}\right)^{1/\alpha} \left(\sum_{(i,j)\in\widehat{\Delta}\setminus\Delta_{1}} p_{i}q_{j}|a_{i} - b_{j}|^{r}\right)^{1/r}$$

$$= \left(\sum_{(i,j)\in\widehat{\Delta}} p_{i}q_{j} - \sum_{(k,l)\in\Delta_{1}} p_{k}q_{l}\right)^{1/\alpha} \left(\sum_{(i,j)\in\widehat{\Delta}} p_{i}q_{j}|a_{i} - b_{j}|^{r} - \sum_{(k,l)\in\Delta_{1}} p_{k}q_{l}|a_{k} - b_{l}|^{r}\right)^{1/r}$$

$$= \left(1 - \sum_{(k,l)\in\Delta_{1}} p_{k}q_{l}\right)^{\frac{r-1}{r}} \left(2G_{r}(\mathbf{p},\mathbf{q};\mathbf{a},\mathbf{b}) - \sum_{(k,l)\in\Delta_{1}} p_{k}q_{l}|a_{k} - b_{l}|^{r}\right)^{1/r}$$
where  $\frac{1}{2} + \frac{1}{4} = 1, \alpha > 1$ 

$$(2.9)$$

where  $\frac{1}{r} + \frac{1}{\alpha} = 1$ ,  $\alpha > 1$ . Taking the prower r in (2.9), we have

$$\left(\sum_{(k,l)\in\Delta_1} p_k q_l |a_k - b_l|\right)^r \leqslant \left(1 - \sum_{(k,l)\in\Delta_1} p_k q_l\right)^{r-1} \times \left(2G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) - \sum_{(k,l)\in\Delta_1} p_k q_l |a_k - b_l|^r\right)$$

which implies

$$\frac{1}{2} \left\{ \frac{\left(\sum_{(k,l)\in\Delta_1} p_k q_l | a_k - b_l|\right)^r}{\left(1 - \sum_{(k,l)\in\Delta_1} p_k q_l\right)^{r-1}} + \sum_{(k,l)\in\Delta_1} p_k q_l | a_k - b_l|^r \right\} \leqslant G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \tag{2.10}$$

for each  $\Delta_1 \subset \widehat{\Delta}$ . Taking the maximum over  $\Delta_1 \subset \widehat{\Delta}$  in (2.10), we deduce the first inequality in (2.8). The second inequality is obvious.

THEOREM 2.4. For any  $p_i$ ,  $q_j \in (0,1)$  with  $\sum_{i=1}^n p_i = 1$ ,  $\sum_{j=1}^m q_j = 1$  and  $a_i, b_j \in \mathbb{R}$ ,  $1 \leq i \leq n$ ,  $1 \leq j \leq m$ , assume that

$$\sum_{i=1}^n a_i p_i = \sum_{j=1}^m b_j p_j.$$

Then we have the following inequalities

$$\max_{\Delta_1 \subset \widehat{\Delta}} \sum_{(k,l) \in \Delta_1} p_k q_l |a_k - b_l| \le G_1(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \le \frac{1}{2} \max_{(k,l) \in \widehat{\Delta}} |a_k - b_l|. \tag{2.11}$$

*Proof.* We omit the proof of the result.  $\square$ 

## 3. Related results

Let

$$G_r(\mathbf{a}, \mathbf{b}) := \frac{1}{2n^2} \sum_{(i,j) \in \widehat{\Delta}} |a_i - b_j|^r,$$

then the following result provides a connection between  $G_r(\mathbf{a}, \mathbf{b})$  and  $G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b})$ .

THEOREM 3.1. For any  $p_i$ ,  $q_j \in (0,1)$  with  $\sum_{i=1}^n p_i = 1$ ,  $\sum_{j=1}^m q_j = 1$  and  $a_i, b_j \in \mathbb{R}$ ,  $1 \le i \le n$ ,  $1 \le j \le m$ , assume that

$$\sum_{i=1}^n a_i p_i = \sum_{j=1}^m b_j p_j.$$

Then we have the following inequality

$$G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \sum_{(k,l) \in \widehat{\Delta}} p_k q_l \left( 1 + \frac{p_k^r q_l^r}{\left( \sum_{(i,j) \in \widehat{\Delta}} p_i^{\alpha} q_j^{\alpha} - p_k^{\alpha} q_l^{\alpha} \right)^{r-1}} \right)^{-1} n^2 G_r(\mathbf{a}, \mathbf{b}) \quad (3.1)$$

where  $\frac{1}{r} + \frac{1}{\alpha} = 1$ ,  $\alpha > 1$ , r > 1.

*Proof.* By Hölder's inequality, we have that

$$\begin{aligned} p_{k}q_{l}|a_{k}-b_{l}| &= \left|\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}} p_{i}q_{j}(a_{i}-b_{j})\right| \\ &\leqslant \left(\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}} p_{i}^{\alpha}q_{j}^{\alpha}\right)^{1/\alpha} \left(\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}} |a_{i}-b_{j}|^{r}\right)^{1/r} \\ &= \left(\sum_{(i,j)\in\widehat{\Delta}} p_{i}^{\alpha}q_{j}^{\alpha} - p_{k}^{\alpha}q_{l}^{\alpha}\right)^{1/\alpha} \left(\sum_{(i,j)\in\widehat{\Delta}} |a_{i}-b_{j}|^{r} - |a_{k}-b_{l}|^{r}\right)^{1/r} \\ &= \left(\sum_{(i,j)\in\widehat{\Delta}} p_{i}^{\alpha}q_{j}^{\alpha} - p_{k}^{\alpha}q_{l}^{\alpha}\right)^{1/\alpha} \left(2n^{2}G_{r}(\mathbf{a},\mathbf{b}) - |a_{k}-b_{l}|^{r}\right)^{1/r} \end{aligned}$$
(3.2)

where  $\frac{1}{r} + \frac{1}{\alpha} = 1, \alpha > 1$ .

Taking the prower r in (3.2), we have

$$p_k^r q_l^r |a_k - b_l|^r \leqslant \left( \sum_{(i,j) \in \widehat{\Delta}} p_i^{\alpha} q_j^{\alpha} - p_k^{\alpha} q_l^{\alpha} \right)^{r-1} \left( 2n^2 G_r(\mathbf{a}, \mathbf{b}) - |a_k - b_l|^r \right)$$

which implies

$$|a_k - b_l|^r \leqslant \left(1 + \frac{p_k^r q_l^r}{\left(\sum_{(i,j)\in\widehat{\Delta}} p_i^{\alpha} q_j^{\alpha} - p_k^{\alpha} q_l^{\alpha}\right)^{r-1}}\right)^{-1} 2n^2 G_r(\mathbf{a}, \mathbf{b})$$
(3.3)

for each  $(k,l) \in \widehat{\Delta}$ . Now, if we multiply (3.3) with  $p_k q_l > 0$  and sum over  $(k,l) \in \widehat{\Delta}$ , then we have

$$G_r(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \sum_{(k,l) \in \widehat{\Delta}} p_k q_l \left( 1 + \frac{p_k^r q_l^r}{\left( \sum_{(i,j) \in \widehat{\Delta}} p_i^{\alpha} q_j^{\alpha} - p_k^{\alpha} q_l^{\alpha} \right)^{r-1}} \right)^{-1} n^2 G_r(\mathbf{a}, \mathbf{b}). \quad \Box$$

REMARK 3.1. If  $r = \alpha = 2$ , then

$$\sum_{(k,l)\in\widehat{\Delta}} p_k q_l \left(1 + \frac{p_k^r q_l^r}{\left(\sum_{(i,j)\in\widehat{\Delta}} p_i^\alpha q_j^\alpha - p_k^\alpha q_l^\alpha\right)^{r-1}}\right)^{-1} = 1 - \frac{\sum_{(k,l)\in\widehat{\Delta}} p_k^3 q_l^3}{\sum_{(i,j)\in\widehat{\Delta}} p_k^2 q_l^2}$$

which implies

$$G_2(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \left(1 - \frac{\sum_{(k,l) \in \widehat{\Delta}} p_k^3 q_l^3}{\sum_{(i,j) \in \widehat{\Delta}} p_k^2 q_l^2}\right) n^2 G_2(\mathbf{a}, \mathbf{b}). \tag{3.4}$$

If taking m = n,  $p_i = q_i$ ,  $a_i = b_i$ , for all  $i \in \{1, \dots, n\}$ , then the bound in (3.4) becomes Theorem 4. in [2].

The next result compares the Gini mean difference  $G_1(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b})$  and  $G_r(\mathbf{a}, \mathbf{b})$ .

THEOREM 3.2. For any  $p_i$ ,  $q_j \in (0,1)$  with  $\sum_{i=1}^n p_i = 1$ ,  $\sum_{j=1}^m q_j = 1$  and  $a_i, b_j \in \mathbb{R}$ ,  $1 \leq i \leq n$ ,  $1 \leq j \leq m$ , assume that

$$\sum_{i=1}^n a_i p_i = \sum_{j=1}^m b_j p_j.$$

Then we have the following inequality

$$G_1(\mathbf{p}, \mathbf{q}; \mathbf{a}, \mathbf{b}) \leqslant \frac{1}{4} \left( \sum_{(i,j) \in \widehat{\Delta}} p_i^{\alpha} q_j^{\alpha} \right)^{1/\alpha} \left( 2n^2 G_r(\mathbf{a}, \mathbf{b}) \right)^{1/r}$$
(3.5)

where  $\frac{1}{r} + \frac{1}{\alpha} = 1, \alpha > 1, r > 1$ .

Proof. By Hölder's inequality, we have that

$$p_{k}q_{l}|a_{k}-b_{l}| = \left|\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}} p_{i}q_{j}(a_{i}-b_{j})\right|$$

$$\leq \left(\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}} p_{i}^{\alpha}q_{j}^{\alpha}\right)^{1/\alpha} \left(\sum_{(i,j)\in\widehat{\Delta}\backslash\{(k,l)\}} |a_{i}-b_{j}|^{r}\right)^{1/r}$$

$$= \left(\sum_{(i,j)\in\widehat{\Delta}} p_{i}^{\alpha}q_{j}^{\alpha} - p_{k}^{\alpha}q_{l}^{\alpha}\right)^{1/\alpha} \left(\sum_{(i,j)\in\widehat{\Delta}} |a_{i}-b_{j}|^{r} - |a_{k}-b_{l}|^{r}\right)^{1/r}$$

$$= \left(\sum_{(i,j)\in\widehat{\Delta}} p_{i}^{\alpha}q_{j}^{\alpha} - p_{k}^{\alpha}q_{l}^{\alpha}\right)^{1/\alpha} \left(2n^{2}G_{r}(\mathbf{a},\mathbf{b}) - |a_{k}-b_{l}|^{r}\right)^{1/r}$$

$$(3.6)$$

where  $\frac{1}{r} + \frac{1}{\alpha} = 1, \alpha > 1$ .

Using the elementary inequality

$$(c^r - d^r)^{1/r} (\gamma^{\alpha} - \delta^{\alpha})^{1/\alpha} \le c\gamma - d\delta$$

provided  $c \ge d$ ,  $\gamma > \delta$  and  $\alpha, r > 1$  with  $\frac{1}{r} + \frac{1}{\alpha} = 1$ , we can obtain that

$$|p_k q_l| |a_k - b_l| \leqslant \left( \sum_{(i,j) \in \widehat{\Delta}} p_i^{\alpha} q_j^{\alpha} \right)^{1/\alpha} \left( 2n^2 G_r(\mathbf{a}, \mathbf{b}) \right)^{1/r} - p_k q_l |a_k - b_l|$$

which yields

$$2p_kq_l|a_k-b_l| \leqslant \left(\sum_{(i,j)\in\widehat{\Delta}} p_i^{\alpha} q_j^{\alpha}\right)^{1/\alpha} \left(2n^2 G_r(\mathbf{a},\mathbf{b})\right)^{1/r}$$

for each  $(k,l) \in \widehat{\Delta}$ . Summing in the above inequality over  $(k,l) \in \widehat{\Delta}$  we deduce the desired result.  $\square$ 

Acknowledgement. This work is supported by NSFC (11001077, 11171093), NCET (NCET-11-0945), the Henan Province Foundation and Technology Research Plan (11230041020 and the Plan for Scientific Innovation Talent of Henan Province (124100510014).

#### REFERENCES

- [1] P. CERONE, S. S. DRAGOMIR, Bounds for the Gini mean difference of an empirical distribution, Appl. Math. Lett. 19 (2006) 283–293.
- [2] P. CERONE, S. S. DRAGOMIR, Bounds for the r-weighted Gini mean difference of an empirical distribution, Math. Comput. Modelling 49 (2009) 180–188.
- [3] G. M. GIORGI, Bibliographic portrait of the Gini concentration ratio, Metron 48 (1990) 183–221.
- [4] G. M. GIORGI, Il rapporto di concentrazione di Gini, Libreria Editrice Ticci, Siena, 1992.
- [5] G. A. KOSHEVOY, K. MOSLER, Multivariate Gini indices, J. Multivariate Anal. 60 (1997) 252-276.
- [6] F. NYGÅRD, A. SANDSTRÖM, Measuring Income Inequality, Almqvist and Wiksell, Stockholm, 1981.

(Received July 16, 2012)

Yu Miao
College of Mathematics and Information Science
Henan Normal University
Henan Province, 453007, China
e-mail: yumiao728@yahoo.com.cn

Li Ge Department of Mathematics Henan Institute of Science and Technology Henan Province, 453003, China e-mail: geli163@163.com

Ang Peng Heze College of Finance and Economics Shandong Province, 274000, China